MNapakaloUpe StaBdote GAo to eyxeLpidio mpLv Eekvroete Tn Sladikacia eykatdotaong. Mo tuxdv anopieg
SLEUKPLVIOELG, ETUKOWVWVHOTE LE TOV TOTIKO OVTLTPOCWTIO.

Mpoooxn: H xprion e 0006veg e peyalltepo BAPOG OO TO ETUTPEMOUEVO UTMOPEL va 08Ny OEL O ATUXN A KOt
TPOUHATIOUOUG,.

- AkohouBriote TI§ 08nyieg oTd Kot pe Bdon ta Brpata ou avadépovtat. MBavd AdBog eival Suvato va odnyroet
OE 0€ ATUXNMA KAL TPOUUATIOMOUG.

- To mpoidv Ba MpEMeL va eyKATOOTAOEL OO EMAYYEAUATIEG, TIOU XPNOLLOTIOLOUV TOV KATAAANAO e€omALOUO aodaleiag
Ko epyaleia.

- To mpoidv elvaL OXESLOOHEVO YLl AVAPTNON OE TOIXOUG amd CUUTAYEG TOLUEVTO fi §UAO.

- BeBawwBeite 6tL n emuddvela othpéng pnopei va urootnpifel pe aopdhela to cuvoAkd BAapog tng BAong Kat Tng
00ovng.

- Xpnouwlomnoleiote TG Bibeg mou mapéxovral, Kat unv Ti¢ a@iyyete unepBoAika.

- To mpoidv MEPLEXEL UIKPA TEUAXLOL TIOU WITOPOUV VA glval SUVNTIKA EMKivEUVA YLa KATdmoon. Kpatrhote Ta pikpd
nodLd o€ anootacn.

- To mpoidv elvoL OXESLOOEVO yLOL XPAON LOVO OE ECWTEPLKOUG XWPOUG. TUXOV Xprion o€ e§WTEPLKOUG XWPOUG
€YKULOVEL TOV KiVEUVO OTUXAUATOG KO TPAUOTIOMOU.

IHMANTIKO: BeBawwBeite OtL mepléxovral OAa Ta TEUAXLA OTN CUCKELAOLA TIPLY EEKLVAOETE TNV EyKATACTAON. Z€
nepimTwon anwAelog i ENATIWHATOC, aneuBUVOE(TE 0TO KATAOTNUA OYOPAS VLA AVTIKOTAOTAON.

SYNTHPHZH: To rpoidv Ba mpémet va eAEyxeTaL 08 TAKTA XPOVIKA Slaothpata yio Adyoug aodpaleiag (cuviotdrat av
nepimou 3 Prveg).

Note: Adjust to the desired
angle then tighten the screws
using the Allen key as shown,
alternating from each screw
as you tighten them.

ErXEIPIAIO LDT13-C012

LDT13-CO12

VESA Compatible
75x75 100x100

32"

MAX

(@)

2-9kg
(4.4-19.8Ibs)
(_RATED



Qm M-A (x4)
M4x12
C (x1) D (x2) E (x3) F (x1)
M6X10 M6x12 @ﬁﬁﬁﬁﬁﬁm
M-B (x4)
M5x12
—J
M-C (x4)
A (x1) G (x1) H (x1) 1(x1) Jxn K (xT) D5
4mm 5mm
1 WARNING: Stored energy hazard! 3 \/ ? % X % %—
a

another person cut off the cable tie from around the spring arm.
e Slowly release the pressure on the spring arm and allow it to
gradually stretch to its full extension.

i ® Firmly hold the two halves of the spring arm together and have

210-250mm
| =

10-85mm

10-85mm

2 10mm
(2 3/8™) ¢
t

Too long Too Short

To properly balance the arm with monitors mounted, adjust the spring tension using the
supplied Allen Key as follows:

First, position and firmly hold the arm horizontally _ W@

as shown. Ask for assistance should you require it. (N |

I/f the arm drops, turn the adjustment

screw counter-clockwise until it stays
in a horizontal position.

6

~/

/f the arm rises, turn the adjustment
screw clockwise until it stays in a

To avoid damage to monitors or mount, horizontal position.
always keep the arm in a horizontal
position while making adjustments. A DO NOT over tighten the screws.

CAUTION Again, ask for assistance if required. CAUTION




	页 1
	页 2

